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Instructions for Candidates

1. Answer any 4 questions.
2. All questions carry equal marks.
3. Answers may be written either in English or in Hindi, but the same medium should be used

throughout the paper.
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1. (a) Yellowland and Indigoland are two countries producing only two commodities, X and
Y, using only labour (L) as the factor of production. Labour endowments in the two
countries are 2400 and 800 respectively. The unit labour requirements of X and Y at
Yellowland are 3 and 2 respectively. The unit labour requirements of X and Y in
Indigoland are 5 and 1 respectively. The tastes and preferences of consumers are assumed

to be same in both the countries, and is given by:U(X,Y) = VXY .Discuss the pattern of
specialization when trade is opened up between them. Explain with the help of a diagram.
(b) Does the Gravity model of trade have the potential to explain why some countries
may not trade with each other? Illustrate with the help of an example.

(c) If the nominal rate of protection of good X is X% , can the effective rate of protection
be negative. Explain with a simple algebra. ( Assume that for the production of one unit



of X at world prices of $100, one unit of Y at world prices of $50 is required)
(10+3.75+5)

(a) Jereiz 3R Ef3aMels ar gor § S 3G & FRS & & H hdol HH (L) HT 3YIART Fh
hael & TEIIT, X TUT ¥ & 3cHeeT HA &1 gt ST 7 43 AT shaaer: 2400 4T 800 ¢
Jollols H X TUT Y FI SHS HH7 ATGTSRAIC havel: 3 a7 2 & SfEamels & x T2 v Fr sw
HH GYHAIT HHAA: 5 T 1 &1 a1t &2t F IYMFa3d HI & JAT 98 Y GHT AL
STl & 3R I8 T @ e St §: UX,Y) = VXY, 3d% @ SR gest
AT & e W AT A 3ING I GgrIar ¥ Tse fifaw|

(b) AT AR o IBcaAThYUT HISel H TE A I &TAT § T $T 23U Th g & Ay
SR FAT 78T X Gohd 8?2 Teh 3180 I TEIar ¥ GHSSU|

(c) e aFT X T GR&T T ATHATT &I x% &, AT FIT Y& FT FHIET &I ARRICHD & Hehell
gl T Wl AeToId eaRT FHASTST| (AT of foh $100Fr 3fge FAT W X F T 3HE
F 3cured & faw Y T vk s@rs i 3maeear § fSwdr dRas fHed, $50 8)

2. (a) Consider a standard Heckscher-Ohlin (HO) Model, where two countries A and B
produce two goods, rice and wheat, using labour (L) and capital (K). Country A is
relatively labour abundant and Country B is relatively capital abundant. Discuss the
pattern of trade and income distribution. Under what condition(s) factor price
equalization may not be obtained? Discuss with the help of diagrams.

(b) Consider two economies: A and B between which there is currently free mobility of

labour. Due to political and economic tensions, some restrictions have been imposed on

the free movement of labour. Discuss its implications with the help of a diagram.
(12+6.75)

(a) Ueh Aol garaa’-3Tgloled (H-0) Alsel W faaR Y, 5@l ar 27 A J21 B 4H (L) Td Gl
(K) T 3TATET F¥eh & WAL, Aol TUT I T Sclead HI &1 S A H I9eTh HHF T
AT # § U A B HILThd Yol T AT H §| AR AT 3 faeRkor & Yoot w0 wel
Y| foret aRTEATHAT 7 PG Fed TAFIOT WIed g1 AT ST HehlT &2 INWT T HGRAAT &
AT




(b) @ 3r¥cgarur3it W faar wL: A TUT B et i acias & s\ HT Ferd ferefierar &
USTAITcR Td 3T el & HROT ATAH & HFd Heoled W F& Yideel F@NT T g
IR HT JEIAT ¥ 58 JHEr Fr Adw=r Hifav]

3. (a) Consider two countries: Yellowland and Purpleland in an offshoring model. Suppose

Yellowland’s skilled labor has a higher relative wage than Purpleland’s skilled labor. The
costs of capital and trade are uniform across production activities. Given this information,
answer the following questions:

I.  Will Yellowland’s offshored production activities be high-end or low-end
on the value chain for a given product? Explain.

ii.  Suppose that Yellowland uniformly increases its tariff level, effectively
increasing the cost of importing all goods and services from abroad. How
does this affect the slicing of the value chain? Draw relative labor supply
and demand diagrams for the two countries showing the effect of this
change. What happens to the relative wage of skilled workers to unskilled
workers in each country after the imposition of the tariff?

(b) Peterland and Tatarland are the two similar countries producing pendrives, with the
only difference being that Peterland has more experience in the production of the same.
Under what conditions, can the Tatarland out-compete Peterland in the world trade
market? Explain with the help of the concept of dynamic increasing returns.

(12 + 6.75)

(A) g g2lf W faarR #T: Aallels dAUT IS Teh JIAErT A H| AT olfolv fF Jalels &
A HH HT TR Il Tdelels & FHAA HH HI Joball A 3R g1 Scdieat Ifarareat
Uoll TUT SAMUR 1 AT Teh AT ¢ 38 eIl & MR W, HAeAiafld 9261 & e}

AN L

T Jeiols T IJYAET Iculea afafafedr Rl QT 71T 3cure & v Hog H@er
3Ta-37d a1 fAe-31a giefr? aHsmsy|

A NST o Aeilels TAH §T & 39 TG TR HI Fordm g, e agen @ galr
TEIHT Td QAT & AT H AET GHE §T § TG Sl §1 TE Hed AW H
sl # e IR JAIA Rl &2 58 IRAcT & F71d Y &M g gt qeif & faw
AIYeT HH Y LT AT IRG FoA1¢| TREG @A & de; Fedeh U H FAT AfAHT
% FRAT HTHHT & AET dcdeT HT FIT A

(b) deXs TAT TTeels aF THTA U § S UASISd HT 3cdlead d &, IR hdd ITg &
f& feTels & 3§ & 3cuie A 3w HepHa g1 92T AR SR # ereels e



gREfaar 7 dietels o fi FT Tohar g2 aifaefier sea gfawer Fr 3rauRom & ggradr
T egrear fifau]

4. (a) Suppose there are two countries: Redland and Blueland. Redland produces laptops
and sells in both domestic and international markets. The demand curve for laptops in the
two countries are given as follows: Redland: Q2 = 4 — 2P; Blueland: Q2 = 1 — 1P. The
marginal cost of production of laptops in Redland is given by: TC = 10 + 0.5Q, where
Q = Qg + Qp. Calculate the price charged by Redland in both the countries. Is there a
case for persistent dumping? Explain. Should Blueland ask for an anti-dumping duty? If
yes, then what is the upper limit on the size of anti-dumping duty? Illustrate your answer
with the help of a diagram.

(b) Four countries Riceland, Wheatland, Cottonland and Juteland produce oil at a unit
cost of production of 20, 16, 12, and 8, respectively. While there are no restrictions on
exports, each country imposes an ad valorem tariff on imports of oil of 30%, 20%, 10%,
and 5%, respectively. Suppose Riceland and Wheatland sign a free trade agreement. Will
this lead to trade creation or trade diversion among all the four countries?

(c)Using standard trade model bring out the impact of import substitution growth model
on the terms of trade with the help of a diagram. (8+6+4.75)

(a) A NTIT 6 Y a2 & WBols AU Sofels| VEels WMol 3R HARE gl araiRy #
9eiT T 3cUTeeT U foshl T §1 el g2lf H olueiq &l HANT a% 39 YHR g (8als:
Qf =4 —2P;sqls: QF =1 — 1P.| (B3 # AT & 3curgal &1 HAT 9T
faeafaf@a & TC = 10+ 0.5Q, 5. Q = Qi + Qp. | Gl &2 # ¥Eeis ganT fow T
HIHAT AT AU Y| FIT 6G ST BT ATHCT &2 HASNSA| FAT Sofls T S Ul o
AT dTfg? A &, A Ser Qe Yook & PR 1 FI WAT FAT g1 2 30 SccT A
IRG A FERIAT & T FIfAU|

(b) TR A USHAS, TEICals, HIcaTols dAT F[Cels FHAA: 20, 16, 12, 3 8 Fr IcUIgs IRl
W dd P 39T I &1 STafh AT W A5 gfaeaes 87 §, Tcdh S HAM: 30%,
20%, 10% 3R 5% & ol & ARTd R Teh JUHeT SRE @M g1 AT e fh
USHAS AT Iecls Teh Had IR FAFA W gEARR Ad &1 8T IRT a2if & &
TR Folel @RI AT AR SA9aTT e

(c) ATeTeh SITIR FAlSel &N 3IINET I U UF IRE HT WEIAT & IR Y el 9
3mara gfaeargs e Afsd & UHT H gRefad HLl



5. (a) Consider country Chemix producing a chemical X. In the production of Chemical X,

it creates a byproduct Y, which helps in rearing of fishes in the sea. Show the demand
and supply curve for Chemical X for this country. Suppose the trade in Chemical X is
opened up and this country becomes an exporter. Show the world trade pattern, social
marginal benefit of the production of Chemical X, and any gain/loss due to this
externality created, with the help of a diagram. Is the trade in Chemical X fair from the
environment perspective?
(b) Consider two countries A and B, producing homogenous goods and are competing in
a Cournot Duopoly setup producing for export into a third market. Suppose Country A
gives an export subsidy of s. Illustrate with the help of a diagram the change in the
reaction functions for the quantities of the two countries and the pattern of trade between
the two countries. How will the diagram and the pattern of trade change if the subsidy
amount is further enhanced to s . (12 +6.75)

(a) T TTIAF X Pl 3cUlGd Flal dlel S HhiAdd W R H| @IS x F 3T
#, g T 3Y-3cUC Y STl §, S g H ASfodl & uied # #HAce aar g1 39 U & fav
TErEfAs X & faT AT qur I @ @] AT ST R SRR X # SR ol ™
dUT Ig oA U AATdE §F A7 fIRg AR Yo, TERfAE X & 3 & HHAG
AT M TAT ST SEIA3T & HROT FEr off /g &t 3@ & ggrgar ¥ G@re| Far
HfA%A X H IUR qI&R0T & ieeahor & 3Rd g2

(b) @ &= A @ B W @R &Y, St GAeT a&gst & 3eued aX W@ € aur 3w e
SOk # @37d & AU 3cules axa dre Feife iR gomell # yioequl &Y & & A
NST & U A, sFT AT Tfewsr ar §1 v R & dgraar & o=t gt & ammit & fow
TR o F IRadT qur et gt F ST WUR F deo w TUse fifow| Iy afcws
T I 3T TR s' A fGAT ST A AR &1 IR 4T Yot v g aRkafda grem|

6. (a) Consider two imaginary countries, Hippoland and Tigerland, trading in cars.
Hippoland is an exporter of cars. Both the countries sign a Voluntary Export Restraint
(VER) to restrict the trade in cars. What are the consequences of a VER for Tigerland?
Discuss with the help of a diagram. If the car producers in Hippoland cartelize to form a
monopoly, what impact would this have on their exports? Illustrate with the help of a
diagram.



(b) For the given costs and benefit curves of lobbying, the endogenously determined tariff
rate of protection is t*. Suppose benefits of lobbying increases. What will happen to the
optimal protection rate? Illustrate with the help of a diagram.

(c) Consider two countries: Labland and Capland, producing two goods: rice and wheat,
under perfectly competitive market structure. Under free trade, Labland offers rice in
exchange of wheat from Capland. Assuming well-behaved offer curves for the two
countries, discuss the consequences of a sudden dip in the supply of rice from Labland.
Illustrate using offer curves diagram. (6.75+6+6)

(a) @ FIeufaeh ¢, Realels dUT eEIRels W faar fAIfST, St FRT &1 FAR T
fReulels &R &1 A3as &1 #RE & R & 9faefia & & fow aar gor wftes @
gfaey (VER) 9 gEAleR A &1 T3IRes & fow VER & aRome & §2 31R@ $r agraar
a Tt fIfew| afg Rodidls & FR AT tHReR a0 & fov @g sara § ar s9@r 306
faaTa 9X 1 g gz 3@ Fr HEIaT § s F

(b) dfferer & &7 1% @ 3R oeT I & o, iaea &9 § FuiRa guam & ¢Rw o
gl AT AT Sifeer & omer 96 A &1 $SeaA GIET & HT a1 gE? NG H FEIar 4
IGEIEGEESY

(c) & et W faaR &Y cieels AT HUels, a1 TEGIHT T 3cHeeT FRd & dael J2AT A, T
NE & Tt el ST & el | HFd AR & AN, Aol Hucls & I F Ted
el & fafesT S dereher AT &1 IRTFT BT a5 A U, oldels § araer B 3mfed A
3T fTRrae & aRomAT 9 =t &) 3w g% 3IR@ FH1 39T Hd AT &)




